GENERAL NOTES SECTIONS

A, CONCRETE & FOUNDATION DESIGN:

1 ALL CONCRETE AND FOUNDATIONS ATTACHED TO
THE HOST STRUCTURE SHALL HAVE A PRE
INSPECTION.

2 ALL CONCRETE GRADE BEAMS AND FOOTINGS SHALL
BE 3000 PSI MINIMUM.

3 ALL CONCRETE FILLED SUPPORTED SLABS SHALL BE
2500 PSIMINIMUM, 3 1/2" NOMINAL THICKNESS.

4 FIBERMESH (3/4” PER CUBIC YARD MIN.) MEETING
APPROPRIATE ACI AND ASTM REQUIREMENTS MAY BE
USED IN LIEU OF WELDED WIRE MESH

5 ALL SLABS ON GRADE SHALL BE A MINIMUM OF 4”
THICK WITH FIBERMESH

6. ALL REINFORCING SHALL CONFORM TO ASTM A615,
BE GRADE 60 (60 KSI MIN ) DEFORMED BARS, #3 BARS
MAY BE GRADE 40

7. ALL OVER POUR CONCRETE FILLED SUPPORTED SLABS
SHALL BE 3000 PSI MIN,, 2" MINIMUM THICKNESS

8 SOIL BEARING PRESSURE SHALL BE A MINIMUM OF
1500 PSF

9 THE CONCRETE SHALL CONFORM TO ASTM C94 FOR
THE FOLLOWING

91 OPC(PORTLAND CEMENT TYPE 1,- ASTM C 150)

9.2 AGGREGATES - #6 STONE, ASTM C 33 SIZE NO. 67
LESS THAN 3/4"

93 AIR ENTRAINING +/- 1% - ASTM C 260

9 4. WATER REDUCING AGENT - ASTM C 494

95 CLEAN POTABLE WATER.

96 OTHER ADMIXTURES SHALL NOT BE PERMITTED

10 METAL WELDED WIRE SHALL CONFORM TO ASTM A
185

11 PREPARE & PLACE CONCRETE ACCORDING TO
AMERICAN CONCRETE INSTITUTE MANUAL
STANDARD PRACTICE, PART 1, 2, & 3 ALONG WITH
HOT WEATHER CONDITIONS RECOMMENDATIONS.

12 IF UTILIZING EXISTING CONCRETE FOR FOUNDATION,
CONCRETE SHALL BE A MINIMUM OF 4' IN THICKNESS,
VISIBLY FREE OF ANY STRUCTURAL EXCESSIVE
CRACKING, SPALLING OR OTHER DETERIORATION

B. MASONRY.

1. CONCRETE MASONRY UNITS (CMU) SHALL BE
STANDARD HOLLOW UNITS AND SHALL BE 2000 PSI
MINIMUM BASED ON TYPE M OR S MORTAR.

ALL MORTAR SHALL BE OF TYPE M OR S
ALL GROUT SHALL BE 2000 PSI MINIMUM AND HAVE
MAXIMUM COARSE AGGREGATE SIZE OF 3/8”

4 PROVIDE CLEAN-OUTS FOR REINFORCED CELLS
CONTAINING REINFORCEMENT WHEN GROUT POUR
EXCEEDS 5'-0” IN HEIGHT

C, ALUMINUM:

1 ALLSTRUCTURAL ALUMINUM SHALL CONFORM TO
THE MINIMUM REQUIREMENTS OF 6005-T5 FOR
ALLOY WITH A MINIMUM THICKNESS OF 0 040" FOR
SUPPORTING MEMBERS

2 WHERE KICK PLATES ARE USED A MINIMUM
THICKNESS OF 0 024" SHALL APPLY

3. STRUCTURAL ALUMINUM DESIGN CONFORMS TO
“PART 1-A - SPECIFICATIONS FOR ALUMINUM
STRUCTURES - ALLOWABLE STRESS DESIGN” OR
“PART 1-B - SPECIFICATIONS FOR ALUMINUM
STRUCTURES - BUILDING LOAD AND RESISTANCE
FACTOR DESIGN” OF THE ALUMINUM DESIGN MANUAL
PREPARED BY THE ALUMINUM ASSOCIATION,
INC.WASHINGTON D.C THE FLORIDA BUILDING CODE
8TH EDITION (CHAPTER 16 STRUCTURAL DESIGN &
CHAPTER 20 ALUMINUM)

4 WHERE ALUMINUM COMES INTO CONTACT WITH
STEEL, OR PRESSURE TREATED LUMBER PROVIDE
DIELECTRIC SEPARATION

5. ALUMINUM SELF MATING BEAM MEMBERS SHALL BE
STITCHED WITH NO LESS THAN #10 SMS 6' FROM THE
ENDS AND 12" ON CENTER, IF USING #12 SPACING
MAY BE 24' ON CENTER.

6 VINYL AND ACRYLIC PANELS SHALL BE REMOVABLE.
THEY SHALL BE IDENTIFIED WITH A DECAL
ESSENTIALLY STATING "REMOVABLE PANEL SHALL
BE REMOVED WHEN WIND SPEEDS EXCEED 75 MPH"
DECAL SHALL BE PLACED SO IT IS VISIBLE WHEN
PANEL ISINSTALLED VINYL AND ACRYLIC PANELS
MAY NOT BE USED IN FLOOD ZONE A

w

7. 1"X2"X0.040" NON-STRUCTURAL MEMBERS SHALL BE
ATTACHED TO HOST WITH 1/4"@ X 1-3/4
EMBEDMENT & 24' 0.C. MASONRY SCREW FOR
CONCRETE & EQUIVALENT SIZE WOOD SCREW WHEN
IN WOOD & #10X 1/2" EMBEDMENT SMS OR TEK
SCREWS IN ALUMINUM MEMBERS TYPICAL.

1 ALL LAG BOLTS SHALL CONFORM TO STAINLESS
STEEL TYPE 300 18-8, WITH STANDARD FLAT
WASHER UNLESS MANUFACTURER GALVANIZES
BOLTS SPECIFIES FOR USE WITH ACQ PRESSURE
TREATED WOOD.

2 HEX BOLTS HAS TO BE ASTM A 325, PLATED WITH
STANDARD FLAT WASHERS AND NUTS

3 ALL CONCRETE SCREWS SHALL BE, SIMPSON, HILTI,
RAWL, TAPCON, REDHEAD, DYNABOLT, PORTECT OR
APPROVED EQUAL.

4 ALL METAL TIES AND ASSOCIATED ACCESSORIES
SHALL BE HOT DIPPED GALVANIZED

5. ALL LAG BOLTS SHALL HAVE A MINIMUM
EMBEDMENT OF 8X BOLT DIAMETER INTC
STRUCTURAL FRAMING (G=.42 MIN.)

6. LAGBOLTS AND SCREWS INTO WOOD FRAMING SHALL
BE PROVIDED WITH PILOT HOLES HAVING A
DIAMETER NOT GREATER THAN 70 PERCENT OF THE
THREAD DIAMETER OF THE BOLT OR SCREW ALL LAG
BOLTS AND SCREWS SHALL BE INSERTED IN PILOT
HOLES BY TURNING AND UNDER NO CIRCUMSTANCES
BY DRIVING WITH A HAMMER.

7 ALL EXPANSION ANCHORS SHALL BE DESIGNED IN
ACCORDANCE WITH THE SPECIFIC MANUFACTURER'S
REQUIREMENTS AND ALLOWABLE LOADS AND SHALL
ONLY BE APPLIED IN CONDITIONS ACCEPTABLE TO
MANUFACTURER. FASTENERS SHALL BE A MINIMUM
OF SAE GRADE #5 OR BETTER ZINC PLATED
ALL FASTENERS CONNECTING ALUMINUM
COMPONENTS OR PRESSURE TREATED LUMBER ARE
STAINLESS STEEL TYPE 300 18-8, UNLESS
MANUFACTURER GALVANIZED BOLTS SPECIFIES FOR
USE WITH ACQ PRESSURE TREATED WOOD, OR
OTHERWISE NOTED ON PLANS,

9 ALL FASTENERS SHALL COMPLY WITH ASTM A153

10, ALL CONNECTORS SHALL COMPLY WITH ASTM A653
CLASS G-185.

11 FOR SMS, THE MINIMUM CENTER-TO-CENTER
SPACING SHALL BE 3/4" AND MINIMUM
CENTER-TO-EDGE SHALL BE 1/2" UNLESS NOTED
OTHER WISE.

E. REFERENCE STANDARDS: {(CURRENT EDITIONS OF)

ASTME 119

ASTM E 1300

ASCE7

ALUMINUM DESIGN MANUAL-AA ASM35, AND SPEC. FOR

ALUMINUM PART 1-A, & 1-B

ASTM C94

ASTM C150

ASTM C33

ASTM C260

ASTM C494

ASTM A615

ASTM A185

THE FLORIDA BUILDING CODE 8TH EDITION

(CHAPTERS 16, 20 & 23)
F. ABBREVIATIONS:

THE FOLLOWING LIST OF ABBREVIATIONS IS NOT

INTENDED TO REPRESENT ALL THOSE USED ON THESE
DRAWINGS, BUT TO SUPPLEMENT THE MORE COMMON
ABBREVIATIONS
1 TYP--TYPICAL
SIM -- SIMILAR
UON -~ UNLESS OTHERWISE NOTED
CONT -- CONTINUOUS
VIF -- VERIFY IN FIELD
SMB -- SELF MATING BEAM
FSM -- FLORIDA SALES AND MARKETING

NoviswN

G. RESPONSIBILITY;

1. ALL SITE WORK SHALL BE PERFORMED BY A
LICENSED CONTRACTOR IN ACCORDANCE WITH
APPLICABLE BUILDING CODES, LOCAL ORDINANCES,
ETC.

2. CONTRACTOR SHALL VERIFY ALL DIMENSIONS AND
DETAILS, NOTIFYING ENGINEER OF ANY
DISCREPANCIES BETWEEN DRAWINGS, FABRICATED
ITEMS, OR ACTUAL FIELD CONDITIONS,

1

THESE DRAWINGS REPRESENT THE ACCEPTABILITY
OF THE 'SUNROOM' ROOM ADDITION ELEMENTS AS
PROVIDED BY THE CONTRACTOR.

. ALL DETAILS ON THESE DRAWINGS ARE ENGINEERED

BASED ON INFORMATION PROVIDED BY THE
CONTRACTOR AND MANUFACTURER.

ANY DETAILS NOT SHOWN ARE TO BE ENGINEERED
BY A LICENSED P.E. IN ACCORDANCE WITH STANDARD
ENGINEERING PRACTICES

WHEN ATTACHING TO FASCIA, THE HOST STRUCTURE
SHALL HAVE AT LEAST A 2"X4" FASCIA AND ROOF
TRUSS SYSTEM. CONTRACTOR SHALL VERIFY THIS
AND IF SMALLER, CONTRACTOR SHALL BRING
STRUCTURE UP TO A 2'X4" FASCIA AND ENSURE LESS
THAN A 2'-0" OVERHANG

FBC PLANS & ENGINEERING SERVICES INC. DOES NOT
WARRANT, EITHER EXPRESSLY OR IMPLIED, THE
QUALITY OF THE CONSTRUCTION, AND IS NOT
RESPONSIBLE FOR THE INTERPRETATION OF DESIGNS
AND END USE BY THE CLIENT/CONTRACTOR.
CONTRACTOR TO VERIFY FEMA FLOOD ZONE OF THE
PROPOSED STRUCTURE LOCATION TO ENSURE
STRUCTURE IS NOT WITHIN SPECIAL FLOOD HAZARD
AREAS.

H. MISCELLANEOUS:

ALUMINUM ADDITIONS ARE NOT TO BE INSTALLED
ON A MANUFACTURED HOME, TRAILER HOME, OR
PRE-FAB HOME IF THE EXISTING STRUCTURE IS ONE
OF THESE, A SEPARATE 4TH WALL SUPPORT SYSTEM
MUST BE ENGINEERED SO THAT NO ADDITIONAL
LOADING IS PLACED ON THE MANUFACTURED HOME
[F ENCLOSURE CONTAINS A SWIMMING POOL OR SPA,
THE ENCLOSURE SHALL COMPLY WITH RESIDENTIAL
SWIMMING BARRIER REQUIREMENTS OF THE
FLORIDA BUILDING CODE 8TH EDITION RESIDENTIAL

R 450117 INITS ENTIRETY

DOOR LOCATIONS MAY BE DETERMINED IN THE FIELD
BY CONTRACTOR.

IF PAVERS ARE UNDER ALUMINUM MEMBERS THEY
SHALL HAVE EPOXY ADHESIVE TO CONCR%:TE OR IF
USING GROUT, ENSURE BONDING AGENT 15 USED
FIRST AND ADHERED WITH MINIMUM 3000 PSI
GROUT.

SCREENING MATERIAL SHALL BE 18X14¥0.013 OR
EQUIVALENT DENSITY SCREEN MESH ONLY UNLESS
NOTED ON DRAWING S-2

ALL STRUCTURAL POST SHALL BE ANCHORED TO AN
EXISTING/PROPOSED CONCRETE FOUNDATION FOR
UPLIFT PURPOSES

TORNADO CODE NOT APPLICABLE TO RISK CATEGORY 1
AND RISK CATEGORY 2 STRUCTURES

71. ASCE/SEI STANDARD 7-22, FIGS, 32.5-1, 32 5-2, AND

G 2-1 THROUGH -4

o gy,

\\\\\

\\\uluuu,,,

FSS id .‘\.&.b‘\'\\\\\\

//I

YO

Inmu\\\‘

PROFESSIONAL ENGINEER SEAL

q"‘*n.;.,.._- N ,x&*"';}‘f
SCREEN ENCLOSURE
DESIGN DATA: (SITE SPECIFIC DESIGN INFORMATION)
ULTIMATE DESIGN WIND SPEED Vult, (3 SECOND GUST) 130 MPH
NOMINAL DESIGN WIND SPEED Vasd: 101 MPH
2. RISK CATEGORY" 1
3  WIND EXPOSURE: B
4, WIND LOADS.
SCREEN ROOF 6 PSF
SCREEN WALLS (WINDWARD): 23 PSF
SCREEN WALLS (LEEWARD) 20 PSF
SOLID ROOF: N/A
5. FACTOR APPLIED TO SCREEN WIND LOADS FOR 18/14. 0.88
FACTOR APPLIED TO SCREEN WIND LOADS FOR 20/20. 1.0

MESH TYPE AND LOCATION SHOWN ON S-2
FACTORS FOR OTHER SCREEN MESHES TO BE DETERMINED BY THE ENGINEER
6. FACTOR APPLIED TO SCREEN WIND LOADS FOR ALLOWABLE
STRESS DESIGN 0.6
7. LIVE LOAD-
3001b VERTICAL DOWNLOAD ON PRIMARY SCREEN ENCLOSURE MEMBERS.
200 Ib. VERTICAL DOWNLOAD ON SCREEN ENCLOSURE PURLINS.
8. SCREEN ROOF TYPE: HIPPED GABLE
9 ROOFTYPE. N/A
10 PROPOSED FOUNDATION (SEE S-2 FOR SIZE AND LOCATION) SHALL BE ADEQUATE TO RESIST
THE UPLOADS FOR THE PROPOSED STRUCTURE

ST|E

ALUMINUM STRUCTURAL IN D EX
MEMBERS
HOLLOW SECTIONS S-1 NOTES
2X2 2"X2 X 0044
rxsxom S-2 DRAWING
Tis 3 X015 93 DETAILS
y,.. OPENBACKSECTIONS =~ S-4 DETAILS
1X3 1"X 3 X 0.045 S_S DETAILS
SNAP SECTIONS
2X2SMS 2 X2"X0045
2 X3SMS 2 X3"X0072"
2 X 4 SMS 2 X4 X0045
3 X 3SMS 3" X 37X 0.090
SELF MATING (SMB)
2 X 4 SMBnermmrrmmmmmmn e 2"X 4" X 0 044" X 0 100"
2 X 5 SMB:-- --2 X5"X0050 X0118
2X6S5SMB - --2"X6"X0050"X 0120
2 X7 SMB -~ -2 X7 X0.057 X0120”
2 X 8 SMB:-- --2"K8"X 0072 X0224"
2 X 9 SMB:-- ~2"X9"X0072"X 0 224"
3 & 1111 L —— 2"X10"X 0092 X 0374"
TUBE SECTIONS

2X2 2 X2 X0090”

<] < <} ~ |%5)
Sle|gls|s
oy oW [\l (=] ™~
[T I BN B N
Doi [ =) [ o =
= g1 v
e | g |5 3
B E o] ] =] =
o|a|3|E|9|¥%
. = %) a S =]
Lﬂ- o é ~ ﬁ S
MlElS|lz || s
S|1E|=2|le|5
w ;\l"
iy
Z LB, 38
oy $d°§n°3g’§
= o
=E R LY
= IfgeRis
ot PNEYSE £
(€] & &
B |8 SxEds
032 << n‘u‘u'agd
v g
Z
< H =
q“ éw g
=9 g B=
- 3 9 2
O gguwé
a7 = g
e V2
u_]§
z8
TRRLEE
@8 ==
£S5 U
= =g 3
UM2~ §<
mYEE s
SEE‘-’ ZUS
auvm =l
SEEE o5
D-(ans US
o~ g
2 8
/m 3
= )
25 lE]| a]n]w
Z |18z |8|¢8
m {8 [z(g|lg|g
© Jl2|lelel.
N (=] 4 =4
NOTES

i
p—




DOOR LOCATION MAY BE DETERMINED IN THE FIELD BY THE CONTRACTOR.

18X14 SCREEN TO BE USED
20X20 SCREEN TO BE USED UNDER CHAIR RAIL

®

. HOST
-
| ox4
I
!
N
o~
s
a
2X4
N <G
S 2X2D] =
C'> &)
T 2X2D] Z
T 2X4 &
3 ke
L —
| 2x4
—
Lra!
<M
<
o
N
N HOST
8l~0l|

PROPOSED STRUCTURE SHALL

NOT SUPPORT HOST

STRUCTURE

35'-4"
7|_1|l 7!_1" / 7!_1" y4 7[_1" 7[_1"
7" S.G. AT1]A H TO HOST STR/llJCTURE — 1X2
o (®)
S/
T/
7/ 2X3(typ) 2X3(typ) 2X3 /] x| 2x4
25} N ~N
5
&) B s
: : -
- : ® |
5 .
2| 2x3(typ) 2X3(typ) 2X3 \g_ |1 4x4x.125
= — N
Q ) b
- O—ra | 3 :
: TN &
S
w2
2l 2x3(yp) 2X3(typ) 2X3 - 24
N T = ~
@Q\ /M ) m m
4 = = = = L\
% %) %) %] %) 5
: > > e > 7
//;; a a N “*'{I’ T \
7" S.G. ATTACH TO HOST STRUCTURE
%3 \|| 4X4X.125
= 120" L\\_ PROPOSED 8"X8"
LINEAL FOOTING
TS W/ 4" SLAB
~
1X2 ™~
5
— < A ~ >
»< T
2X2(yp)| X = >
h )
- <
1X2 T A}

Yogq1n-

©

Lo e

131_9"

131_5"

\\\\\“‘”“”““/////

o '? /,//
\\\\ W, ///
S
S O )

L (e»‘bf*f6 w2
2 ki m\\}‘“’ t =
ER QO of if5E
t QINTE v %/5
D, RS
%, R FLO R}?-'(S@\S\
AN P resnnr’ N
7, N
" E SSIONR
\
PROF!{S’SI’J]‘!AILlE‘I‘I‘G‘I?‘lEER SEAL
SIS |8
0 D \D O \D
o [29) o™ (= b~

Q w ™M o o~ B~

|2l e8| 2] &

o

o 2

2zl 2

s E E ﬁ (= E

S|la|5|E|2|8

W 2l2|le|=2|E

M [ = =3} ©n

AlElSlzd | B

SIEtS el &

W g

= Lo, 588

(] smpeRyd

=4 Busy8d

BRI LT

= TERS0ES

Z o0 %g T8 EN

o— mMNS - o £

53] - ..

- Z .~m
IR FH E
Z [ (=]

v 2

ZzZ N

< o 2

A o %a [ g

A2 R -

2Eplads

m —

= ¥ = g

Q

[}

Z 8
> s

EE oz

ME E_‘.—

m )

mQ WS

B~ =g 2

o.2% |23

REEE =2

B30 &

Chom Z

EEE ok

B8RS =]

Q.f: <

m g

M 3

= S}

32 BIE |- |ole

<+ a E158| 5

m Jlzlag|le|e

o o 3 = E 5

_ X |8 | 8 =

DRAWING




2'X2'X0.062 RECEIVING CHANNEL W/

FOR WOOD

(4)1/4 LAGSCREWS @ 1-1/2 SPACING @ EA, GUTTER

BRACKET & (1)1/4 LAGSCREWS @ 12 0.C. MAX.
MINIMUM EMBEDMENT SHALL BE 2

FOR CONCRETE.

(3) 3/8' CONCRETE SCREWS @ 2 SPACING @ EA, GUTTER

BRACKET & (1) 3/8' CONCRETE SCREWS @ 24 0.C. MAX.
MINIMUM EMBEDMENT SHALL BE 2

(1)5' OR7*X 6 WIDTH X 0.072 MIN EXTRUDED
GUTTER BRACKET @ EA. BEAM & (1) GUTTER BRACKET
BETWEEN BEAMS, ALL BRACKETS W/ (4) #12 X 3/4 SMS
INTO GUTTER LIP

SN

OPTIONAL

Z-BRACKET 0.250'

OPTIONAL1 X2 X0.045 OPEN
BACKW/ (2)#12X1 1/2' @
BEAM & AT GUTTER @ 24' O.C,

(MAY USE 2X2 IN LIBU OF 1X2,”] NN
USE #12X 2-1/2 TEKS, SAME
PATTERN APPLIES) i}
o
= mam | OO
OR 00 - ,
5 OR7 SUPER
2 X2 X1/8 X PURLIN

ALUMINUM ANGLE
w/ (4) #12 X 3/4 '
SMS INTO BEAM ON

EA SIDE EA, LEG

—< oom GUTTER
R -0 O

0000 | \_4#2x3/4 sMs
INTO GUTTER EA SIDE
A MINIMUM OF (2) AND UP TO (4)
#10X 3/4 EASIDE TO COVER:
EXPOSED BEAM (NO MORE THAN 6
MAY BE CUT HORIZONTALLY)

~

00 5_
2'X2 OR2'X3 PURLIN
(SEE $-2 FOR SIZE) ~ © p

—
5 OR7' SUPER
GUTTER

2'X2 X1/8' ALUMINUM ANGLE W/ (4)
#12 X3/4 SMSINTO PURLIN ON EA SIDE

NOTES
1 2X4 SMB BEAM ONLY REQUIRES 4 WIDTH GUTTER BRACKET W/ (2) 3/8 LAGS

GUTTER BRACKET & BEAM ATTACHMENT DETAIL

OPTIONAL1 X2 X0.045 OPEN BACKW/
(2)#12X1 1/2 @ BEAM & AT GUTTER @ 24
0.G. (MAY USE 2X2 IN LIEU OF 1X2, USE #12 X
2-1/2 TEKS, SAME PATTERN APPLIES)

2 X_PURLINS (SEE 5-2 FOR SIZE) ALUMINUM GUSSET PLATE (SEE

CHARTS FOR SMS SIZE, QTY AND
ATTACHED TO BEAM w/MIN (4)
#10X11/2 sms\ PATTERN)

QTY (B) #SMS

NOTES
1. TOTAL NUMBER OF SCREWS PER JOINT EQUALS 4 |-, | GUSSET .
TIMES B BEAM| py'ar | SMS B s3

2 PLATE WIDTH SHALL BE DETERMINED FROM

2x4 | 1/8" [ w12 | 9/18/36 | 16
ANGLE OF BEAM AND MINIMUM SPACE L Ry

REQUIRED "S3" IS MINIMUM PLATE WIDTH 25 | 1/8 | #12 | 9/18/36 | 16
3 GUSSET PLATES CAN EXTERNAL OR INTERNAL. | 2%6 | 1/8 | #1z [ 9/18/36 | 16
4, INTERNAL SCREWS FOR PURLIN CONNECTION | 2x7 | 1/8 | #1z | 10720740 | 18"
MAY BE INCLUDED N TOTAL NUMBER OF o Tare e iz o

5 3/16" GUSSET PLATE CAN BE USED IN LIEU OF 2X8 | 3/16 | #14 |12/24/48 | 18
1/8" GUSSET PLATE 2X9 | 3/16 | #14 |14/28/56 | 20

6. ALL SPLICES WILL HAVE THE SAME PATTERN 2%10 | 3/16 | #14 | 15/30/60 ] 20

7. ALL SCREWS SHALL BE SPACED EQUALLY,

8 DETAIL SHOWS 2X6SMB WITH §" ALUMINUM
GUSSET PLATE AS AN EXAMPLE.,

BEAM SPLICE GUSSET DETAIL

2 X2'X0.62 RECEIVING CHANNEL W/ (4)
#10X3/4 SMS EACH SIDE OF PURLIN & INTO.
CARRIER BEAM (MAY USE ANGLES EA SIDE)

2 X_'SMB EAVE RAIL MEMBER
{(UNLESS OTHERWISE NOTED ON §-2)
ATTACHED TO PURLIN W/ (2) #10 X
4 SMS THRU 5CREW BOSS

1'X2'X0.045 OPEN BACK
ATTACHED TO EAVE RAIL MEMBER:
#10X1 1/2 SMS @12 0O.C

SLOPED OR FLAT PURLIN CONNECTION DETAIL

SCREW SIZE & AMOUNT

N

SCALE NT.S, SCALE N T.S. SCALE NT.S
EDGE MEMBER
ROOF BEAM (SLOPED OR FLAT) OR PURLIN
H (2) #10X4 SMS INTO SCREW
BOSSES FOR EDGE MEMBERS
0.125' FLAT PLATE W/
CARRIER BEAM—_| (12)#10X3/4 SMS OR (8) #14X3/4
SMS (MIN. 1/2 EDGE DISTANCE) HINGE LOGATION
~ 2 X2 EXTRUSION=—N L4—>2 x2 EXTRUSION
. h__EDGE MEMBER
2 X2 X025
ANGLE EA SIDE OR PURLIN DOOR
SEE TABLE BELOW FOR HINGE LOCATION-—=~~ \

(TYP EACH SIDE, EACH LEG)

1 X2 MEMBER FORSCREENING——\

#10X1 1/2' SMS@ 12 0.C. (MAX)
CONNECTING 1 X2 TO CARRIER BEAM

ROOF | Fp S0 | ory
BEAM logr L5 o] ¢
ANGLE

W | w2 | &
x| w1z | 5
T
x| #14 | 6
8| ¥4 | 7
R e
X0 | #i4 | 9

BEAM TO CARRIER BEAM CONNECTION DETAIL
SCALE NT.S,

OPTION #1 ‘;ﬁ%r

OPTION #2

2 X2 XPURLIN DEPTH RECEIVING CHANNEL
W/ (4) #10X3/4 EA.LEG ATTACHING PURLIN
‘TO BEAM OR EAVE MEMBER (060 REC,
CHANNEL MIN.)

ROOF BRACING CONNECTION DETAIL
SCALE N.T.S

BOTH ENDS SIMILAR

HINGE LOCATION:

NOTES

1. HINGES SHALL BE ATTACHED TO STRUCTURE W/ (3) #10X 5/8 SMS MINIMUM

2. DOOR SHALL BE ATTACHED TO ENCLOSURE W/(2) HINGES MINIMUM

3. HINGES SHALL BE ATTACHED TO DOOR WITH (3)#10 X 5/8 SMS. FASTENA1"X2 X0.044" TO
UPRIGHT W/#12X1 SMS @ 12" 0.C. AND WITHIN 3 FROM END OF THE UPRIGHT(IF APPLICABLE)

TYPICAL SCREEN DOOR CONNECTION DETAIL
SCALE N.TS.

‘r

¥
P T TN
..' te,

W77,

£ WS
-, ,900 ke lOR\ Q‘?Qo\\\\\
/
“11y, s Sion N’ o
”“mmn\“
PROFESSIONAL ENGINEER SEAL
I I I
D D \D O \D
m XN o [=3 D~
Q n [32] [} ~ ~
Zl 2| 2|FR| B &
Q
a4 & E =
= o
=2 = fous 5 =} E
ol@la|lg|5]2
SIHEIEERY
~1El38|z|& =
S|IElsS|el &
3
S B 48k
E ‘S—JQ%%%
= E4BLES
L FES Y
[ mbg’@e"am
= IEFER iy
G Beel% e
Z .| 2 EyEa4
S |8 EZFES
2 Z
7. g
Za éz
- o
S AN § g
O e T3 =]
jaa Q5 o o] §§
B
w
mg
z 8
: [
25 SE
g5 g
wQ [ R
fet B =5
O_ox §<:
EYSEE 1
HGak =y
OEES Za
D-(u.‘%fi OS5
& 3
|8
= &
= 5
%g = I RO
— S|5|8|E|¢
~ = %] 7] 7]
= R =
© {|E2|8|8|8
DETAILS

-y




{4) 3/8'  MACHINE BOLTS W/ 3/4 ® WASHERS \\\\‘“”” ! 1y,
SECONDARY ANGLE MIN 0.125 2X8 SMB TO 2X10 SMB, (8) 3/8 © MACHINE BOLTS ///
UPRIGHT Ty | QUIRED FOR 263 FOR BEAMS UNDER 2X8 SMB, THROUGH CARRIER “,
MEMBER BEAM AND POST . 7
- "
oo smerome | OPTION #1 OPTION #2 NSg™.,
SECONDARY ANGLE TO COLUMN. T Al \/\ PRIMARY 2 X2 X0.125 ANGLE . ¥
(TYP EACH SIDE) / RECEIVING CHANNEL 16 A
Wi (2) #10X3/4 SMS FASTENING (GLEY Xslc%(’zuvvagol?s’{zg OR ANGLE EA. SIDE (typ) L9 5 .
N / |_—~—COLUMN TO PRIMARY ANGLE (TYP —\ (:0625 THICKNESS) v .
(B) CONCRETE SCREW ANCHOR INTO |- 0 0O EACH SIDE) poum— o = h = :
SECONDARY ANGLE(TYP EACH SIDE)— o o _— — CARRIER BEAM % = : L%
(SEE TABLE) o Miv = h
1 X2 BASEMEMBER (TYP 9 [ B - * ."
~ \ EACH SIDE) | . . | < A0, . Q%’ 3
2'X2 OR2°X3 __ | FOR RECEIVING CHANNEL: TOTAL (8) SCREWS i 4;5 ., F L R\Q (} N
X PURLIN OR GIRT (2) #10X 3/4 SMS (TYP) INTO GIRT/PURLIN & e %\. 0 % R
ANCHOR SPA (MIN) 4 (1) CONGRETE SCREW (SEE TABLE) (4) #10X 3/4 SMS (1'YP) INTO UPRIGHT/BEAM %, é\ sese ((, &
(TYP)(SEE TABLE) ANCHOR INTO PRIMARY ANGLE AND @ FORANGLE TOTAL (8) SCREWS, 7 ..()‘S / O N A\, \\\\
< __~ T1/4 ©CONCRETE SCREW ANCHOR @ 24' (2) #10X 3/4 SMS (TYP) @ BA. LEG T i @ / \\\‘\
3" (MIN) 0.C, BETWEEN COLUMNS (TYP EACH SIDE) A pROFESSI O’N’ AILI ElNI G|l rlu‘zr;r:sm.
0!
n O D 0 L \D
Tt NUMBER OF ANCHORS B IS EACH SIDE INTO THE SECONDARY @ Al2l8]l&8|8|R
CONCRETE o ANGLE AND DOES NOT INCLUDE THE ANCHOR INTO THE 1X2. (OPTIONAL) 1 X2 elalglalgls
COLUMN AIECH (fg EW | 2. MINIMUM EMBEDMENT OF ANCHORS INTO CONCRETE FOOTING MEMBER FOR SCREENING g o
SIZE SHALL BE 2-3/4" AT ALL UPRIGHT LOCATIONS, ALL SCREW LENGTHS 12 0.C (MAX)/ O z
g |MINIMUM|  srUPRIGHT CONNECTIONS SHALL BE OF SUFFICIENT LENGTH FOR ALUMINUM CONNECTING L X2 TO E = | B 2
SPACING | REQUIRED EMBEDMENT INTO CONCRETE FOOTING WHEN A PAVER POST CARRIER BEAM & POST | 5 E g | 8| e
2X3 1/4 0 0 DECK IS PRESENT S| & =R I
roRyn 1 2 3 CONCRETE SCREW ANCHOR DESIGNS ARE BASED ON THOSE LISTED %_ | | = a2 g2 | 3|3
ON S-1,D FASTENERS, OTHER BRAND & TYPE SHALL BE APPROVED o MIZ|S|8|2|6
2X5 1/4 1 2% BY ENGINEER. a0 =T e O
7X6-3/8 1 3 4, 2X3W/1X2 CORNER POST SHALL REQUIRE SAME BASE \\_upmcm OR BEAM e P SIE|S|le]|&
2X7-3/8 1 3% CONNECTIONS AS 2X4 SHOWN IN TABLE, KICK PLATE ATTACHED TO -SNAP OR SELF MATING OR
5. IF FOR AN IN-FILL, TOP OF COLUMN CONNECTION SIMILAR IF ALUMINUM MEMBER W (1] HOLLOW Y HORIZONTAL BEAM ON W g
2X8-3/8 2 3 CONCRETE LINTEL. #10X3/4' @ 18 0.C ITS SIDE (IF REQUIRED) lﬁ < g g
2X9-3/8 2 3% |6 IFWOOD LINTEL/DECK, DOUBLE LEDGE REQUIRED (MIN 3 57 MAY NOTE E gawd % g
SUBSTITUTE LAG SCREW FOR LDT FOR BOTH PRIMARY & 1 PERPENDICULAR CARRIER BEAM USE 0125 RECEIVING CHANNEL WHICH WILL pERSEE
2X10-3/8 2 4 SECONDARY ANGLES, CONNECT TO THE POST W/(4) 3/8 "THRU BOLTS USED FOR THE PRIMARY CARRIER [~ 2 g3 B
7 2X2X.045 DOOR JAMB MEMBEER SHALL CONNECT SIMILAR TO 2X3 BEAM, THEN USE (3) 3/8"9 MACHINE BOLTS W/ 3/4 @ WASHERS TO ATTACH THE e g £288Ey
MEMBER, NOTES PERPENDICULAR CARRIER BEAM TO THE RECEIVING CHANNEL. = TERSQ E 8
1 KICK PLATE TO BE APPLIED TO UPRIGHT CHAIRRAIL OR GIRT [F 2. HORIZONTAL BEAM DETAIL WILL BE PROVIDED IF NEEDED = DTN S
APPLICABLE W @ &
4] =
= B £ 2@y
. L2 8
2" X 3" OR LARGER UPRIGHT TO CONCRETE W/WO0 PAVER PURLIN OR GIRT TO BEAM OR POST DETAIL BEAM TO POST DETAIL = &5} 5 % E E E 8
DETAILS SCALE N TS. SCALE NTS o2 E
SCALE NTS. 2N 2
zZ W
< = 2
(4) (S1) P CONCRETE | o ° S
1 X2 X1/8 ANGLE (4)#12X3/4 SCREW WITH 2-3/4 L. osTsizH [ ; o L) E;
(8) #14 X 3/4 SMS = SMS (TYP TOP AND SIDE EMBEDMENT (MIN EDGE G WL el roneiay ) | w0 | 51 | $2) o ° -Bé
Fe DISTANCE FROM DECK O e 'g [dh
I | kl\ | 5 EDGE=3") EHL AT m [#a] E
o o MIN | o ,\ 3%3 | 2 4 c 2
°c ° o (+] inh";‘\\\\\\\\t‘! AV R ¥ B
°o o Q§§\ T I | axa | 2z | 4 | & | 2
= | o (H) 3/8' ® MACHINE BOLTS . ;
| 6'X6 3 6 ¥ 4
1/8' DIA. STAINLESS 1/8° ALUMINUM PLATE WITH WASHERS OR (HH) TOP VIEW
3/8' @ ADJUSTABLE STEEL CABLE I @ 45° ANGLEW/ 1 #14X 3/4 SMS
[-] EYE - ° BREAK @ 90° W/ 5/16 3'X3'K 0,125 ANGLE
BOLT FOR CABLE - EYE BOLT W/ LOCK NUT (EXTERNAL OR 1 X2 OPENBACK
° o TENSION SIDE VIEW g{)ELTWELDED STAINLESS STHEL EYE o & WASHER EA SIDE INTERNAL) OR 0 125 ANCHORED TO CONCRETE w g
° (4 - (S1)  CONCRETE RECEIVING CHANNEL ]Y/jv[/\slo/ﬁké f\}wl(:/]-?ok 6 = g
1/8 9 SCREW WITH 2-3/4 <%, e
STAINLESS EMBEDMENT (MIN EDGE MAX EACH SIDE OF POST g ot
STEEL CABLE 1 ¢ (MIN) WASHER BENEATH NUT L DISTANCE FROM DECK AND 24 0.C.MAX é =z 2 E
_.._/\,._l— | (9) #14 X 3/4 SMS EDGE=3") =i GE
Pz NOTES @1 0C, EG Ea 3
) o WHEN USING CORNER o B o §
PE;&%E’{E%_A _\/\__ L. 2°'X2'X 1/8' EXTRUDED ANGLE o [ % CONNECTION OPTION #2 E§ ; E et E
ON 45¢ ANGLE CONNECTION CABLE MUST BE CES Z E
SIDE VIEW 0P VIEW WITHIN 6 OF CORNER OR E R % 8 =
JOP VIEW PRIMARY MEMBER. . Bt
OPTION #1 OPTION #2 OPTION #3 - <~
A & §/\ (S2) MIN SPACING
(o] 7
lg) é g 2'X2 X.125 CLIP MAY BY PLACED ON TOP OR SIDE OF & NOTES w .
v DECK! v/ E%)R %,/];[; X3 SLEEVE ANCHOR ® 2 DG [ TOP OF CONCRETE 1 CONCRETE SCREW ANCHOR DESIGNS ARE BASED ON TITEN HD (S1) ¢ SCREW ANCHORS o b
& \ : : OTHER SIZE OR TYPE OF ANCHORS SHALL NOT BE USED <
{ AN - 'TOP OF CONCRETE 2 FOR PATIO COVERS AND CARPORTS DISREGARD THE 1X2 OPEN BACK SCREEN MEMBER ON g 3
y THE FOUNDATION TYP g
4
4 NOMINAL SLAB MINIMUM—— & C%)?\]O(?R%ST!E 4 11/2 X5-1/2 ALUMINUM 3. MINIMUM EMBEDMENT OF ANGHORS INTO CONCRETE FOOTING SHALL BE 2-3/4" AT ALL POST = o
W/WELDED STRAPW/ 214 DS LOCATIONS ALL SCREW LENGTHS AT POST CONNECTIONS SHALL BE OF SUFFICIENT LENGTH =2 5 S R [
> / (2)y/4 9x 3 MASONRY ANCHOR (MIN ™= e FOR REQUIRED EMBEDMENT INTO CONCRETE FOOTING WHEN A PAVER DECK IS PRESENT = S lglz|l2l2
3/8' X 3 MASONRY Flvl\algl{{%/l(})zgﬂ m;ozrfgﬂANCHOR Z3/% EMBEDMENT) 4 4, MINIMUM EMBEDMENT OF ANCHORS INTO CONCRETE FOOTING SHALL BE 2-3/4 AT AT ALL m 3 ; g1818
IASONRY_ ) 14| EMBEDMENT) < 4 UPRIGHT LOCATIONS, ALL SCREW LENGTHS AT UPRIGHT CONNECTIONS SHALL BE OF o 5 |88
/ 4 A SUFFICIENT LENGTH FOR REQUIRED EMBEDMENT INTO CONCRETE FOOTING WHEN A PAVER O dlg|B|BlE
OPTION #1 OPTION #2 8 X8 “NEALJ&?WS‘/ ] 5 DEVATLMAY BE FLIPPED AS NEEDED DETAILS
[ — OPTION #3 6. USE1/4"X 3" LAG SCREWS IN LIEU OF CONCRETE SCREWS FOR WOOD HEADERS, JOISTS,
(USE WITH FOOTING ONLY) AND GIRDERS
CABLE CONNECTION AT CORNER AND FOUNDATION ALUM. POST CONNECTION DETAIL
SCALE NTS. SCALE NTS. -

ST




CHART #1
#12 SCREWS | #14 SCREWS
34" | 374"
CHART #2.
#12 SCREWS |#14 SCREWS|
BEAM QTY QY
2 X4" SMB 8 6
2'X5" SMB 8 3
2'X6" SMB 10 B
2 X7" SMB 10 [}
2"X8" SMB 12 10
2'X9" SMB 2 10
2'X10 SMB 14 12

2 X2 EAVE RAIL SECTION
(UNLESS OTHERWISE SHOWN ON §-2)
ATTACHED TO BEAM w/ (3) 10X 2
SMS INTO SCREW BOSS

1 X2 OPEN BACK EAVE RAIL ATTACHED TO
UPRIGHT w/(2) #10X 1% SMS INTO SCREW

#10X 1% SMs 24 c/cC

3/4' SCREWS
(SEE CHART#2 ABOVE FOR QTY.}
ALL SCREWS SHALL BE SPACED EVENLY

NOTES

SELF-MATING BEAM
SHALL BE NOTCHED
’ FOR UPRIGHT

oo 17 7

0 -

n /
ool _
o of—L—

/—4 (MIN) UPRIGHT
/

v

1 N ISDISTANCE FROM EDGE OF BEAM. (SEE CHART #1)
2 FOR SLOPED BEAMS, MAINTAIN ALL SCREW SPACING FROM EDGE OF BEAM

UPRIGHT TO BEAMCONNECTION - ALL WIND ZONES

SCALE NT.S,

SLAB HEIGHT TYP (MIN. 4 )

SEE NOTE 5—\

|
- v "3 N v
- 4 4 < _‘ s - ”{$
. 4 / |
p
«

« \ REBAR CONTINUOUS W/ 25

" s A JN___OVERLAP AT ALL JOINTS ON

3 CHAIRS (SEE CHART FOR
REBAR SIZE & QUANTITY)

e

SEE SHEET §-2 FOR
PROPOSED FOUNDATION
SIZE AND LOCATION

1"PERFT MAXFOR 2 -0"
- MIN BEFORE STEEPER
SLOPE

SLAB HEIGHT TYP (MIN 4 I]T

NOTES FOR ALL FOUNDATION TYPES

1

A w

SLAB AND — —]
FOOTING . N $
) : -«
- . SLAB '
4 PR —“]
B 4 . %’ SEE NOTE 5 REBAR BY FOOTER WIDTH
. . wyr 5 REBAR}#4 REBAR
T \ H QrY QTY
[ REBAR CONTINUOUS W/ 25 T
OVERLAP AT ALL JOINTS ON 3 8",10",12" | 8 1 1
CHAIRS (SEE CHART FOR REBAR 8", 10", 12" | 10 1 1
" SIZE & QUANTITY) 8" 10", 12" | 12 1 2
8", 107, 12" | 16 3 4
LINEAL RIBBON FOOTING REBAR STZLS ARE NOT TO BE MIRED
(CONTRACTOR MAY USE #5 OR #4)

THE FOUNDATIONS SHOWN ARE BASED ON A MINIMUM SOIL BEARING PRESSURE OF 1,500
PSF THE BEARING CAPACITY OF THE SOIL VERIFIED BY A LICENSRD CONTRACTOR PRIOR TO

ANY POURING OF CONCRETE,

THE SLAB/FOUNDATION MUST BE CLEARED OF ALL DEBRIS, AND COMPACTED PRIOR TO

POURING OF ANY CONCRETE,

CONCRETE MEET THE SPECIFICATIONS IN THE S-1 NOTES PAGE.
HEIGHT AND WIDTH ARE INTERCHANGEABLE EXCEPTION 12" WIDTH X 16" HEIGHT IS NOT

APPLICABLE

WHEN PINNING USE A MINIMUM OF (1) 12" #5 REBAR W/ 6 EMBEDMENT @48 OC,
REQUIRED FOR ACCESSORY STRUCTURE TO ACCESSORY STRUCTURE CONCRETE BUT
OPTIONAL FOR ACCESSORY STRUCTURE TO HOST STRUCTURE CONCRETE, HOWEVER SLAB

ONLY MUST BE PINNED TO HOST STRUCTURE,

FOUNDATION DETAIL

SCALE NT.S

X Eﬁw
2 R FLORY:

N
e, Vet SN
Ao SN
7, Was )
1, £ SSIONRY
Hiprppny
PROFESSIONAL ENGINEER SEAL
|1 8|88 3
~lalg|g8|c|k
nod BlR2|&| &) &
= 5
= | £ |5 2
AP = = [ =) —
ola|3|E|g|%
SEEIEEE
~1518lz14|2
a [= é el =
s g
1 g
Z B3 E¢
ot SRER 4y
=~ gustss
&5 SEREBEE
& Boes I
m "‘E’C\’?\D@ >
= TEEERER
el RS I ] E™
& g i
QS |2 EEEES
v 2
N
ZE =
< =
- 5
AR s 8§ 3 B
T = o-sé
[ 7% ﬁ;m g
e N
wn
mg
zZa
3z E
) oz
A= =5
29 UE
= Eg =
R 5
mﬁmﬁ E—‘E
SEz0 B
Ogm Z 8
mm‘—(ﬁ o§
AERS o3
2 8
== S
hid
= )
= §
I Z Z Z
m S|El8|8(8
= S l'&;ﬂ
© ¥ |2|8]|8
DETAILS

DT




